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58 i3 & 58 =

o IFEFAEES  WKVS-X 49 - 738 o BERAWE T-14
o HI B <tk 495 x L x38 o JEFHiEIE 400 mm
o [FRRZE ;& o X714 /8-WXI-38x7x5. 5
<Y
* 1% il — Wi Aoy TR P = 56 kN CEwF Ps = 16.5 mm
- BEEHK i= 0 -EEERE Z = 1187 mn’
- EHEEZEELRFE P, = 56.0 kN
- BEE R axb =200 mm x 500 mm
- X EEERE 0= 395 mm
cRFYGNR—AAFKERE 4 = 500 mm
CRTYDGN——KREHEMRLE L TEHET S,
- BN Op = 0.180 Kk N/mm?
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 Pi xPg
W= axb
56.0 x 16.5
W *m— 0. 009 kN/mm
M :%x Wox & x (20 — 01 ) (0> 008 0,=0)
:%xo.om x 395 x (2 x 395 — 395 )
= 180.2 kN-mm
ol Hh: o
M 180. 2
—_ e = <
o 7 187 = 0.15 kN/mm2=ob
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